R VCE & PDF https://www.geekcert.com/cis-discovery.html
' 2024 Latest geekcert CIS-DISCOVERY PDF and VCE dumps Download

GeekCert.com

CIS-DISCOVERY®Q44s

Certified Implementation Specialist-Discovery

Pass ServiceNow CIS-DISCOVERY Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.geekcert.com/cis-discovery.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by ServiceNow
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest CIS-DISCOVERY Dumps | CIS-DISCOVERY PDF Dumps | CIS-DISCOVERY VCE Dumps 1/3


https://www.geekcert.com/cis-discovery.html
https://www.geekcert.com/cis-discovery.html
https://www.geekcert.com/cis-discovery.html

VCE & PDF https://www.geekcert.com/cis-discovery.html
2024 Latest geekcert CIS-DISCOVERY PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which choice represents the three best ways of extending Discovery?
A. Orchestration, Classifiers, Discovery Patterns

B. Fingerprinting, Classifiers, Discovery Patterns

C. Orchestration, Classifiers, Probes and Sensors

D. Classifiers, Probes and Sensors, Discovery Patterns

E. Classifiers, Fingerprinting, Probes and Sensors

Correct Answer: D

QUESTION 2

Discovery finds and maps dependencies for the following types of storage devices. (Choose three.)
A. Direct-attached storage (DAS)

B. Network-attached storage (NAS)

C. Storage area network (SAN)

D. Multiple area network (MAN)

E. Redundant Array of Independent Disks (RAID)

Correct Answer: ABC

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-
management/page/product/discovery/concept/c_Storage.html

QUESTION 3

From an SNMP Query pattern operation, which of the choices are valid Variable Types? (Choose two.)
A. Test

B. Table

C. Scalar

D. Cl Type

Correct Answer: CD
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Reference: https://docs.servicenow.com/bundle/quebec-it-operations-management/page/product/service-
mapping/reference/r_PatternVariables.html

QUESTION 4

In Discovery, what table associates an IP address and a credential?
A. Credential Affinity

B. Service Affinity

C. Service CI Association

D. Tags

Correct Answer: A

QUESTION 5

Which of the choices below best represent key capabilities of a ServiceNow ITOM Enterprise solution? (Choose two.)
A. Create an Engaging User Experience

B. Build New Apps Fast

C. Manage Hybrid Clouds

D. Proactively Eliminate Service Outages

Correct Answer: CD
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